Phil 225 -- Symbolic Logic

HW 3 

Due 2/17/12
1)
Chapter 4, ex 11

2)
Chapter 4, ex 13

3)
For each of the following, decide whether the last sentence is a consequence of the first ones. If it is, say so. If not, show that it is not by giving an appropriate interpretation.

(a)
(x)Fxx  (x)(y)Gxy


(b)
(x)(y)(Fxy  (y)Fyx)


(x)(y)(Fxy  Gyx)



(x)(y)Fxy


(x)Gxx





(x)[(y)Fyx  Fxx]









(x)Fxx

(c)
(x)(y)Fxy


(x)(y)(Fxy  Gyy)


(x)Gxx

4)
Show that the following set of sentences is consistent.

(x)(y)(Fxy  Fyx)

(x)(y)(Fxy  Gyy)

(x)(y)(Gxx  Gxy)

(x)(y)(z)(–Fxy  –Fyz  Fxz)

5) 
Chapter 4, ex 1, 2, 3.
